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v 3ZEGoogle , 2009554 | SETIRAS © 1.1
v &R : http://golang.org # https://code.google.com/p/go

v 1IBSHI5E : http://tip.golang.org/ref/spec

v  API3Z#3 : http://godoc.org
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GolE S &ht—(REB~F =

break default func interface select
case defer g0 map struct
chan else goto package switch
const fallthrough | if range type
continue for import return var
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E

bool false true, false, ABEEIEIEZE(EZE true,

byte 1 0 ZF[EFuint8,

rune 4 0 ZFRETFint32, 7#i& Unicode Code Point,
int/uint 0 g;i;g:ﬁ?& , £ AMD64/X86-64 &£ 64
int8/uint8 1 0 S5BE:-128~127;0 ~ 255,
int1l6/uintl6 0 SBE :-32768 ~ 32767 ; 0 ~ 65535,
int32/uint32 4 0 SBE:-21Z ~ 2112 ; 0 ~ 42(Z,
int64/uint64 8 0

float32 4 0.0 iBHEE 7 NIV,

float64 8 0.0 BRI 15 MMIVINIHL

complex64 8 0.0

complex128 16 0.0

i



GoiFSER—EAMIELE (&) —=
xm EEl

uintptr nil  EEBRFEEHY 32 {5k 64 ([,
array nil (B3840 : [2]int,

struct 2R, E2£8, ITFE , BaEhilL.
string o (ESRE, TR T B,

slice nil  SIFEZRE, 40 : [lint,

map nil  5|HRE,

channel nil 5IAZEE,

interface nil  #EO38E,

function nil  BRENSREL,

 2013/6/25 -
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A\

VYV VYV

close: X[4] channel,

len: ¥KEXstring. array. sliceBYi<E , map keylI&iE , LANRE
M channel YR HEHEEE.

cap: SREX arrayBIKE | sliceIBE , LARE HchannelfYERKZE T
B,

;:g -|- BERTESRE , AiEERE S ByREIRAREFE=E , IRE]
BET.

make: {XfTFslice, map. channeliXL5|HzEE | [RTYIIRLAF ,
KRR FIREREKXEM.

append: [Alslicel&fil (FEEEZBHRIN) — 1 EZ 1Tt

copy: EAMEslicelIEFIETE.

print/println: A3Z#F format , EIET L |, EERAmtE,
complex/real/imag: SZAMIE,

panic/recover: jEIRAME,
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GolESEit——

iR

const (
LANG = "Go"
TOPIC = "Practice"
METHOD = "Coding"

)
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GoiZ=Hfl— a8 =]

7=HA
var 1 inte4

var m map[string]int
var ¢ chan

=IAFIRE :

var i1, s1 = 123, "hello"
12, s2 := 123, "hello" //{XREEANEEE
arrayl := [...]{1,2,3} //(NPREEAEE




L1

GolE= Eit— e =)

string :

sl := "abcdefg"

fmt.Printf("sl: %s\n", s1[2:3])
// => sl part: c

bal := []byte(sl)

bal[2] = 'C'

s2 := string(bal)
fmt.Printf("s2: %s\n", s2)

// => s2: abCdefg

2013/6/25 — = AR



GolEEEM—FFE (4e) -_-.—.--"@

string :

// => s2: abCdefg
fmt.Printf("s2 (rune array):
%vin",[Jrune(s2))

// => s2 (rune array): [97 98 67 100
101 102 103]

fmt.Printf("Raw string:\n%s\n", “a\tl
b ) -
// => Raw string: a\t[|—
// => b | mE—EE

X)L BE— 1 E%E

2013/6/25 — BRI
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GoiE |_| A -ﬁﬂj—tﬂ )

I

slice :

var arrl []int

fmt.Printf("arrl (1):%v\n", arrl)

// => arrl (1):[]

arrl = append(arrl, 1)

arrl = append(arrl, []int{2, 3, 4}...)
fmt.Printf("arrl (2):%v\n", arrl)

// => arrl (2):[1 2 3 4]

- 2013/6/125 = BRI



GolE SEfit—F (52) =

slice :

arr2 := make([]int, 5)
fmt.Printf(“arr2 (1):%v\n”, arr2)

// => arr2 (1):[0 0 0 0 Q]

n := copy(arr2, arrl[l:4])
fmt.Printf("%d copied, arr2 (2):%v\n",
n, arr2)

// => 3 copied, arr2 (2):[2 3 4 ©

0]

- 2013/6/125 = BRI
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slice :

// => arr2 (2):[2 3 4 0 0]

n = copy(arr2, arrl)

fmt.Printf("%d copied, arr2 (3):%v\n", n,
arr2)

// => 4 copied, arr2 (3):[1 2 3 4 9]

arr3 := []int{6, 5, 4, 3, 2, 1}

n = copy(arr2, arr3)

fmt.Printf("%d copied, arr2 (4):%v\n", n,
arr2)

// =>5 copied, arr2 (4):

654 3 2]

2043/6125— ———— AR
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map :

ml := map[string]int{"A": 1, "B": 2}
fmt.Printf("ml1 (1): %v\n", ml)

// =>ml (1): map[A:1 B:2]
delete(ml, "B")

fmt.Printf("ml (2): %v\n", ml)

// =>ml (2): map[A:1]

v, ok := ml["a"]

fmt.Printf("v: %v, ok? %v\n", v, ok)
// => v: 0, ok? false

2013/6/25 — BRI



GolESE—I=HhED

if
var il int
if i1 == 0 {
fmt.Println("Zero value!")
} else {
fmt.Println("Nonzero value")
}

ifl := interface{}(il)
if i2, ok := ifl.(int32); ok {
fmt.Printf("i2: %d\n", i2) // R#FJED ?

¥

// => Zero value!

2013/6/25 — BRI




GolESEM—ITHIER (42)

switch :

var n int8
switch n {
case O:
fallthrough // 2#ZEH4T NEBEYcase
case 1:
n=(n+1) * 2
default:
n = -1
}
fmt.Printf(“I: %d\n”, n) // => I: 2

2013/6/25 e BRI




GoiE S Hit—it4%iEa) (4:2) =]

for :

var n uint8
for n < 100 {
n++

}
fmt.Printf("N: %d\n", n) // => N: 100

for i := 0; 1 < 100; i++ {
n++

}
fmt.Printf("N: %d\n", n) ) // => N: 100

2013/6/25 = TR AL




GolESEM—ITHIER (43 )

for :

—0

strings := []string{"A", "B", "C"}
for 1, e := range strings {
fmt.Printf("%d: %s\n", i, e)

}

// => 0: A

// =>1: B

// => 2: C

stringMap := map[int]string{1l: "A", 2:
for k, v := range stringMap {

fmt.Printf("%d: %s\n", k, v)

¥
/] SFTEIEHA?

IIBII, 3:

ey
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RERIEASEL &R ERIRENE
~ AN

ERELFBA ( First Class Style )

func GenMyFunc(hash func(string) int64, content string) |func() string [{
return func() string {
return fmt.Sprintf("Content Hash: %v", hash(content))
}
}
R ITAZIREE. XBEREIRIZerorsLhl , BEFKAIA
TR : / SR " HETE.
myFunc := GenMyFunc(func(s string) int64 {
result,| |[:= strconv.Parselnt(s, 0, 64)
return result
}, "exie")
fmt.Printf("%s\n", myFunc())

EHHZEE - Content Hash: 16

2013/6/25 - s IR
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deferfYE A% -

func ReadFile(filePath string) error {
file, err := os.0Open(filePath)
if err = nil {
return err

}
defer file.Close()

return nil

IEB A ReadFiled] , defer/BAIEALHMNIT.

2043/6/25 ——— AR L 23



GolEES Efii——defer ( 4t

deferlFBAILIZ— M EZRL

—0

func ReadFile(filePath string) error {
file, err := os.0Open(filePath)
if err = nil {
return err
}
defer func() {
file.Close()

return nil

2013/6/25 — BRI




R Sie c*
GolESEi—FELE ——
panic .
func ReadInputs(exitMark string, buffer bytes.Buffer) {

end := false
reader := bufio.NewReader(os.Stdin)
fmt.Println("Please input:\n") SiEtER S B F/IIRENE |
for lend / MAEHEHE.
line, |err|:= reader.ReadString('\n")
if ere ‘= nil { MBFASERERR =S
panic(err) RAIBRMN , BRI
b | B, BBAMREILL FpanicliE
if (exitMark + "\n") == line { — /N TR JERG et
break
}
buffer.WriteString(line)
}
}

ISR
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recover .

func i
befer

B THE
IR

FTEP—T

& FARIE,

+(O)

fii——F IR (

) =

S ARATLAERERGHIN “RIPE" . XR2deferfiB—1MEAIZ.

{ gNER R RET  EAELL FERT B
func() £ — PR,
if err := recover(); err != nil {
—— |debug.PrintStack()

¥

fmt.Printf("Fatal Error:

var buffer bytes.Buffer
ReadInput("exit", buffer)
fmt.Printf("Inputs: %s\n", buffer.String())

%s\n", err)

panich—ESWERGrecover , SBEMIAB YN ERIIHEA RAZIX A !

26




GolESEN—EMINS A

— MEERAYstructLAR BRI—1 04

type Dept struct {
name string
building string
floor uint8

} STEHLER? (MRRSIPythonttig
/ AR ) . XEtfEZTJavadhay “this” .

func |[(self Dept)| Name() string {
return self.name

-~ 2013/6/25 EINEAR P




GolBSEit— k5% (&) ~=0

BEEX \ structl9EMB LN AE

func (self Dept) SetName(name string) {

self.name = name
} TREIXNMES | XEKRIEDeptsLAIRYIEETTRIES
"self’ , FEFEIEESEBEIclINARZAL,

func (self| *Dept) Relocate(building string,
floor uint8) {

self.building = building

self.floor = floor

28



GoiE=SEit— RS aiE (42) ==
structf(ERGE ¢

deptl :=
Dept{
name: "MySohu",
building: "Internet”,
floor: 7,
}

fmt.Printf("dept (1): %v\n", deptl)
// => dept (1): {MySohu Internet 7}
deptl.Relocate("Media", 12)
fmt.Printf("dept (3): %v\n", deptl)
// => dept (2): {MySohu Media 12}

2013/6/25 — = AR



GolE545

TSRS (53) =)

structjg;AE

deptl.SetName("Other")

"RIEESESIA (185T)

EIXE , HSetNameTTEIENER , JHA ?

fmt.Printf("dept (3):/%v\n", deptl)
// => dept (3): {MySohu|Media 12}

a|fi— A MR ET AR

func (self Dept) SetName..

func (self *Dept) Relocate..

AR -
« “(self Dept

)" HIBTIEARDeptsLHIRIBEIANIHEL T “self” .

+ "(self *Dept)” {AAFIEADeptLAHUEEHBIARIELT "self .

30
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0y,
Ck
interface T
Intertace : Ype

N
type DeptModeFull interface { //E&T#5HIDept REHEFT ONETET%
Name() string
SetName(name string)
Relocate(building string, floor uint8)

}
type DeptModeA interface { //{N8& 7T &fdDept LRI E

Name() string
SetName(name string)

}

type DeptModeB interface { //{NB& 7T &E&HIDeptBUIBE ERISE
Relocate(building string, floor uint8)

}

31



GoESEM—IZO (48)

25t DeptsLAISCIN 7 RN

deptl :=
Dept{
name: "MySohu",
building: “Media"”,
floor: 7}
switch v := interface{}(deptl).(type) {
case DeptModeFull:
fmt.Printf("The deptl is a DeptModeFull.\n")
case DeptModeB:
fmt.Printf("The deptl is a DeptModeB.\n")
case DeptModeA:
fmt.Printf("The deptl is a DeptModeA.\n")
default:
fmt.Printf("The type of deptl is %v\n", v)
} // => The deptl is a DeptModeA.

-2013/6/25 s AR
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25t DeptSEFIRIEETSEEN 7 HPLEsz

deptPtrl := &deptl
if , ok := interface{}(deptPtrl).(DeptModeFull); ok {
fmt.Printf("The deptPtrl is a DeptModeFull.\n")

}
if , ok := interface{}(deptPtrl).(DeptModeA); ok {
fmt.Printf("The deptPtrl is a DeptModeA.\n")

}
if , ok := interface{}(deptPtrl).(DeptModeB); ok {
fmt.Printf("The deptPtrl is a DeptModeB.\n")

}
// => The deptPtrl is a DeptModeFull.
// => The deptPtrl is a DeptModeA.
// => The deptPtrl is a DeptModeB.

-2013/6/25 s AR
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St AadeptPtrikFlE L Z =110
DeptModeFull, DeptModeAFDeptVlodeBRJZLIN ?
® mdept1 AL Vi ODeptViodeA ?

KIEGOIESE :

> SfaDeptHY T AETMNE 275 A RIE /90eptiTi% | B @ Name ()F(
SetName (). FfrlA , £5fgDeptHISLAIR/IDeptModeARYSEHR,

> RIS *DeptlUE i A B R T 5 AR =& IDept1*DeptBITTIA |
BP : Name(). SetName()#ORelocate(). FrLA , E[ODeptHYLHIRY
BT A ER=/MZ[—DeptModeFull, DeptModeAFDeptModeBHYISL

/18

34
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PREFE(R « VAR AR R ERIRE A EER

deptl.Relocate("Media", 12)
fmt.Printf("Dept: %v\n", deptl)
fmt.Printf("Dept name: %v\n", deptPtrl.Name())

// => Dept: {MySohu Media 12 } 7 ARt 4B De ptiysD
[/ > bept names fysone o GUENEILARRELSH A
BT ?

KIZEGOIBESHLE :

> WREHERILAIXE "FIERSURY" |, BexBGESEREaaAEn , U
x.m()/3(&x) .m()BIREIC (REFHI) .

BN : dept120J#SUHHY , Bdept1B955EFE S 75ERelocate() , M
deptl.Relocate() H&deptl.Relocate( )HIREL .

35
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B4

<GOPATH> : BRENGoREFIEBRREER

__ src : GoREEFREIENXHNEFENESR , BT MBSE—FER

__ pkg: BT "go install” ApSIRIFLTEN__HFERSENXE (.a) BIF
BR

__ bin:@J "go install” @pSMIFLEAITHITEHRNFHER

tban - HENRERNEFEE "go_lib" |, BPAIXNNEAREHAIZIZRTEIX
THEH=RT:
<GOPATH>
| src
| go lib
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GolTZHEi—FEfsEt (&)  —0

RIS :

> GolBE=AYRAERLAUTF - i FERY.

> GolBE L ApackagesRBLREE , FrEMIIBEBL MiEpackage .,

> E—8FFALIEZMNRIEXH (.go) , BIXEHRIERIBYIT—EL

> RBMAHEFIATT LIS BRAR | BEBEIESHE (a) 25
1iZBREA.

> BRENAERRELEZR , RIS RIRIEI4Z B LATEES G,
MmEIMEFRXAIHAEFEFEAE (#HEFpublic ) BIRR.

> BN RED BIBERIREISEF | MACHESTELA

‘_test.go" &R, BXUNHEZEEER—BRF.
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Gol5S&EM—=F45H (482 ) _—

RN ESE
> AHITRER (S@&FRERAL ) XEGEEERAnaing , FETTESH
FIFTIREWERINCREL | X

package main

import (
[} fmt mn

)

func main() {
fmt.Println("Here we go!")

}
> BILAERAos . Exit(0)IRBIZIEIFHIE |, tBAJLAFos . Args3RENaR 1T
BI=1 58

38



GoEZHM— 2R (53) ==

BABNESE
> MRBENBPERAZ—IEIER  B5EESA (import)

package main

import (

"fmt" // EERfmtE

"go_lib/logging" //E{FFgo_libIiH+*HIloggingt
)

func main() {
fmt.Println("Here we go!")
logger := logging.GetSimplelLogger()
logger.Infoln("Here we go!")

}

> B = BRERTRER/HFSEIOUHR (FEE.a)

39



Gol5S&EM—ZF45H (424 ) _—

ZHENBESALL
import "go_lib/logging" // IEBRI : S NGEIAET logging . xxxi5[AJ&

FRKR,

import L "go_lib/logging" // BIBIEI : BABHIEHKRE—IIE 25
o LUBITL . xxxigialE kA,

import . "go_lib/logging" // BEf#RI\ : SABHAGLEINSEEMRIME
HiaZ8/ER |, B : @ xxxihEnz e ak

I,
import _ "go lib/logging" // ELIiRFE : T2 EPVIIEWEREL , RS
BEYHE (AEIEFER) .
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GolESHit— 2R (55) ==

BRIIRIL -

> BNRRESMEERRTLIENY —— P E S M AR RE func init() {},
F—E& A LIRS NRIESENE X AEEN SR REL

> FTEEVBREEI=Emain() ZRl. HRE—&E LWIEA , B
1T—IR,

> TRIFSRARERIES M EAIIRARERIIITIR T,

> BIRHREESRIERIEEREENRN (FEHWIRHRIAIVE)
STREIT.

> AREEREFNIB R EREEEE A R EREL,

41
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BAIIRHE -

—0

package main

import (
"go lib/logging"
)

var logger logging.Logger

func init() {
logger = logging.GetSimplelLogger()
}

func main() {
logger.Infoln("Here we go!")

}

2013/6/25 —— TR AL




GoiE = Eit—L NSRS =]

TEEIGE
1. M https://code.google.com/p/go/downloads/list FEFEMNIRZN |
portablehRAEP ],

2. MRIEETRE , FGgo i ENRIESHRT , 1
“/usr/local” ,
3. IXEGofRE=R : export GOROOT=/usr/local/go,
4. REGIMBRER , URLERISAMITAIGOPATH , 40
export GOPATH=$HOME/go-projects:$HOME/go-demo
5. ZERIRMI , A TILEMINE R | FGoShIIHEERMIZIE
<GOPATH>/srcHR'F , EFBRSIHER®R.

43
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Goll: = 2l

=

Usage:

SHERSIT LRI ¢

e P A

[T

E

NREBLIERNZ =R EGolNE , EaiT R "go”" FadHl

Go is a tool for managing Go source code.

go command [arguments]

The commands are:

build
clean
doc

env

fix

fmt

get
install
list
run
test
tool
version
vet

compile packages and dependencies

remove object files

run godoc on package sources

print Go environment information

run go tool fix on packages

run gofmt on package sources

download and install packages and dependencies
compile and install packages and dependencies
list packages

compile and run Go program

test packages

run specified go tool

print Go version

run go tool vet on packages

Use "go help [command]” for more information about a command.
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M TE (48) =

<GOPATH>/src/demol.go :

package main

[T

GolE=S Eill

import (
"flag"
"fmt"
)

var name string

func init() {
flag.StringVar(&name, "vn", " visitor ", "The name of the visitor.")

}

func main() {
flag.Parse()
fmt.Printf("Here we go, %s!\n", name)

2013/6/25 = TR AL




[T

GolE=EM—HETH (42) =]

go run:

<GOPATH>/src$% go run demol.go -vn "Harry"
Here we go, Harry!

go build:

<GOPATH>/src$ go build demol.go
<GOPATH>/src$ 1s

demol demol.go

<GOPATH>/src$ ./demol -vn "Harry"
Here we go, Harry!

2013/6/25 = TR AL




ERFEsC i ——Stack =)

<GOPATH> /src/partl/stack/stack.go :

package stack

type Stack interface {
Clear()
Len() uint
Cap() uint
Peek() interface{}
Pop() interface{}
Push(value interface{})

2013/6/25 —— BRI



HiliYmfescik——Stack ( 42 ) =\

<GOPATH> /src/partl/stack/simple_stack.go :

package stack

type SimpleStack struct {
capacity uint
cursor uint
container []interface{}

...... /] SERRT stackizRENMHIFIB T

func NewSimpleStack(myCapacity uint) Stack {
return &SimpleStack{capacity: myCapacity}

¥

48
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<GOPATH> /src/partl/stack/simple_stack_test.go :

package stack

import (
"fmt"
"runtime/debug"
"testing”

)

2013/6/25 —— BRI




HillfmfEsCii——Stack ( 4:3 ) ==

<GOPATH>/src/partl/stack$ go test
PASS
ok stack ©0.115s

GolEEWE 7 il TEANERE,
XBFESEN T GoIESRE ARG TIEME" B,
-

ST EZE AT 287,

~l

E MR AR RSE N !

2013/6/25 e TR AL



HimiEsLiy——Stack ( 454 ) =]

go test -v

RUN TestInterface

PASS: TestInterface (©.00 seconds)

RUN TestClear

PASS: TestClear (©.00 seconds)
simple_test.go:14: Ignore the cap error.

= RUN TestlLen
PASS: TestLen (0.00 seconds)
simple_test.go:14: Ignore the cap error.

RUN TestCap
PASS: TestCap (0.00 seconds)
simple_test.go:14: Ignore the cap error.

= RUN TestOps

PASS: TestOps (0.00 seconds)
simple_test.go:14: Ignore the cap error.

stack ®.088s

91



B—EPD /NG

GoZ=hitifmAE I SEEAYIRAS o] LAZI AUt R

https://github.com/hyper-
carrot/my_slides/tree/master/go_programming practice/src/partl

KA LUK

KRNI slideF I ERS

L

SRIEFMHRIRE |, EEIETTI

IE , IEBHNGoHIHFR !

SIS WA INERR LAZG T A Issue,
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Go & RiE—Hs =]
GoEHAmERELSEITETHA ?

v’ goroutines
—HMLLRIERRE | LUIMER RIEHNES RF RIS,

v’ channel
BEiE , A LAEEEMGoruntinetn & MEAEIEEEIEIEMFIET
FER.

v’ sync

R 7 —EHIH ARG, ECANBGFIRTR(E.

2013/6/25 — = AR



GoF AmiE——goroutines ==

goroutines.ZHiA# I igoroutines , Z&
YA — LR E—LFE, MR ESE—E
1Z2x THEIRATAN

EEEANRE (Effective Go)

AB..... T AR IERRY ?

Do not communicate by sharing memory.
Instead, share memory by communicating.

54



Goit &iRfE——goroutines (4:) —={1

goroutineRXFHY :

> HYF—RBHIANDO , e5EE—tEIEEEFaE tBgoroutinesFHH{THY
7. (F=: 8 "7 1)

> HGOIESIFEHIREF "go" K,
> —goroutine{XFHEA~5KBRILATF (IRFHIER )  SLAEiRELE>

5%, XiL "ANET" T LA FAESKRARRE. (FS A
A ! )

> EBUETOSEHIZNISIRE AR ARKSEINE RIFHVEEEE | X8
HITHITIRIL T RESZFF. MME ( coroutine ) , IBERZEIE
[B—£A2 EAYIHEERE (yield/resume ) SEECHIFFAHIIT,

95
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- imteE——goroutines ( 422 ) -—-—--'@

(RN~ 2

—»  EFHEER

EiHCPUEJ H@%%& [ crumiae (1~N)
/CPU N
%21 |
¥ 3 r 3
5 =
N J

2013/6/25
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GoFt &imfE——goroutines ( %43 ) ----'@

% (& ) CPURRHIFARISEHL 71T

—»  SERGRE

=T

Z1ZCPURRIZ AR [ CPUBEE (1-N)
CPU Core 1 A

gig1 |

L

Z£ig 2
. Y,
CPU Core 2 A

i 3

F' Y F 3 & &

®ig4 |

. Y,

2013/6/25 e TR AL



GoFf & JmfE——goroutines ( %24 ) --*@

1 2 ( coroutine) :

S1EAZNINE B AR HFERIRIR FSEIM B F A,

EHNEIEA
‘cPU N
i 1
s g 2 alEhE
FiiE
\ J

2013/6/25 s BRI



Goif A& imiE2——goroutines (45 ) ==

%2 ( coroutine ) FEE=H :

B Lua BY coroutine

B Python BNMECEEFN4ERLES (yield ) , LAMGreenlet
B Ruby & C# 9 Fiber ({H&RF2. £F12)
B Erlang HY Green Process

B Scala AY Actor

59



GoFf & JmfE——goroutines ( %426 ) ----'@

goroutine — EERAVINFE ( coroutine)

| G - goroutine, M - worker thread, P - prccesscr[rescﬁfﬁé

M Pool O P M

P Array (All) ?

P Idle Array

G Idle Queue status intlé6
(Px) FunVar* fnstart

G Runnable

Queue (Px) The default G:

e main: main.main()
G Idle Queue ® scavenger: timing

(Global) garbage collection

G Runnable
Queue (Global)

2013/6/25 = TR AL
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Go

- imtE——goroutines ( £Z7 ) -—-—--'@

HEEHfTg0oroutine ;

G - goroutine, M - worker thread, P - processor/resource

o M; (Stackless
M Pool O___\/___-} 3 € ) o func(name string) {
. LT "Here we go, %s!\n", name)
Multiplexed 0S Thread 7 G Runnable Queue Q bor Y ("Harry™)
P Idle A /@ N - k:%
e Array 7
[ | | | G Idle Queue __--- | @ G Global Idle Queue
. 4@ Fetch a idle G
N (when empty local queue
Check runnable G @ and steal failing)
(when empty local G Global Runnable Queue P Array (All)

gueue and steal

failing) | | | | | [ | | | ]

runtime.GOMAXPROCS (k)

2013/6/25 - ——= BRI



A p

Go

& mfE——goroutines ( 428 ) ----'@

HEEHITgoroutine (B—FHEMR )

P Idle Array

L[ 1

G - gorout

Pk

|

A

M; (Stackless)

?‘OL@W |

I |
\ G Runnable Queue 2
O I I I k\:n@ }( Harry™)

G Idle Queue _.--7~

-

ine, M - worker thread, P - processor/resource

o func(name string) {
Fmt Printf(
"Here we go, %s!\n", name)

0 G Global Idle Queue
A

— | | 1

IIIL<F

2013/6/25

262
N

or create one

Q Fetch a idle G
N (when empty local queue
and steal failing)

P Array (All)

L 1 1 |

runtime.GOMAXPROCS (k)

ISR



A p

Go

& mfE——goroutines ( 29 ) ----'@

goroutinesi@E :

G - goroutine, M - worker thread, P - processor/resource

P Idle Array
[ P Idle Array

o N @

M; (Stackless) _#,ff4E”ter syscall | "

P U TT—_ | Waiting for M; (Stackless) /\/‘I Exit syscall |

L © @ syscall | -
o @

nothing to do,
the M will be
stop.

I

I

' Vo

: T @ \/ When there is
I

2013/6/25 ——= BRI



Goit &iRfE——goroutines ( 410 —=

<GOPATH>/src/demo2.go :

package main

import (
"fmt"
"time"
)

func greet(name string) {
fmt.Printf("Hello, %s!\n", name)

}

func main() {
name := "Harry"
go greet(name)
time.Sleep(10 * time.Millisecond)
fmt.Printf("Goodbye, %s!\n", name)

2013/6/25 = BRI




Goit ik /RiE——goroutines ( £11 —=

\— —

=17

<GOPATH>/src$ go run demo2.go
Hello, Harry!
Goodbye, Harry!

// time.Sleep(10 * time.Millisecond)

<GOPATH>/src$ go run demo2.go
Goodbye, Harry!

2013/6/25 = TR AL




Goit&iRfE——goroutines ( £i12 —=

<GOPATH>/src/demo3.go :

package main

import (
mn _Fmt (1}
"runtime”
)

func main() {

runtime.GOMAXPROCS (runtime.NumCPU() - 1)

go func() {
fmt.Printf("GN: %d.\n", runtime.NumGoroutine())
runtime.Goexit()
fmt.Println("Exited.")

1O

runtime.Gosched()

fmt.Println("Ended.")

2013/6/25 — BRI




A

GoF & Jmfz——goroutines ( 4213 -—-—--'@
JEY i

<GOPATH>/src$ go run demo3.go

GN: 3.

Ended.

// runtime.Gosched()
fmt.Println("Ended.")

<GOPATH>/src$ go run demo3.go
Ended.

2013/6/25 o TR AL



GoF &ZmfE——channel ==

1FZGoroutine 25— NELFTSIEIE | FrLUAXT
LRI EHIBIEAE AR, (A28 LAEHsync
BRELY (EEI=HE] ) |, 1BEHGo FIXE EA
RHETZHY, FENIi1Z/HGoFY /7 zl—channe l—FL)
Hgoroutine Z/EHY/E/ZE/5/ER,

a8 (The Way To Go)

var chl chan = make(chan int) // int3EER93EE HTiEE
ch2 := make(chan int, 5) // intz=RBINE HEE

68



GoH A JmiE——channel ( £ ) ==

Schannel&k<HIHappens Before :

> SWFIEETEE , "MEEEIEEUE" IR EF—EsE
"EEEAEEIE" BB ERRZBIALE.

> NTEWEE , "MEERESIE HRMFERE A
EIERWEE" AR FRCRIRE.

b
FiZ&goroutinefdgoiE A —E=EXNgoroutineFFIgH,
(T2 BT,

69



GotAimiE——channel ( £:2) ==

<GOPATH>/src/demo_chan.go :

package main

import (
mn _Fm_t mn
)

var ch = make(chan int)
var content string

func set() {
content = "It's a unbuffered channel."
<-ch

} llCh <_ 0" _IE@%BH
Z= _ 7]
func main() { o 0 O EIEIE::; ch” 1
go set() 175
ch <- 0
fmt.Println(content)
}

2013/6/25 — BRI




GoH A miE——channel ( £23) =\

\— —

=17

<GOPATH>/src$ go run demo_chan.go
It's a unbuffered channel.

// var ch = make(chan int)

2013/6/25 — AR A



GoFf & ‘miE——channel ( 424 )
<GOPATH>/src/demo _chan2.go (1) :

—0

package main

import (
"fmt"
"time"
)

func main() {
tick := make(chan int, 1)

go func() {
time.Sleep(2 * time.Second)
count :=1
for {

time.Sleep(1l * time.Second)
tick <- count
count++

10O

2013/6/25 = TR AL




A

GoH & JmfE——channel ( 425) =\
<GOPATH>/src/demo _chan2.go (2) :

for v := range tick { o
fmt.Printf("%d\n", v) O O
if v == 5 { ] LAFEREs EE
break RENEUE. tickZ3E
} ZITEE , FilARE
} SEEPEEE |

X SR
YT

<GOPATH>/src$ go run demo_chan2.go

1
2
3
4
5

2013/6/25 — BRI



A

GoH kimFE——channel ( 426 )
LEEA S —F 5L

—0

func main() {
tick := make(chan int, 1)

go func() {
time.Sleep(2 * time.Second)
count =1
for {

time.Sleep(1l * time.Second)
tick <- count
if count == 5 {

close(tick)
}
count++
}
1)
for v := range tick { °

=SEIEHKRT |
IEERHITS
RIZER,

: © O
fmt.Printf("%d\n", v)

2013/6/25 — BRI




GoH A miE——channel ( £27) =\

\— ) —

=17 .
<GOPATH>/src$ go run demo_chan2.go

1
2
3
4
5

2013/6/25 — AR A




GoH A JmiE——channel ( 428 ) ——

E[gchannel :
o} channel IEENRMEIE. LLE0 : “<-chan string” {XBENEE
BWEFF5E , M “chan<- string” {XBEMIBEREFFIER.

<GOPATH>/src/demo_chan3.go :

package main

func receive(over chan<- bool) {

<-over
}
func main() {
o := make(chan bool)
go receive(o0)
<-0

2013/6/25 AR




GoH &k imiE——channel ( £29 ) =\

EEY i i

<GOPATH>/src$ go run demo_chan3.go

# command-line-arguments

./demo_chan3.go:4: invalid operation: <-over (receive from
send-only type chan<- bool)

(E1E :

func receive(over chan<- bool) {
over <- true

}
N—y—

B=1T !
<GOPATH>/src$ go run demo_chan3.go

2013/6/25 = BRI




Goif & imFE——channel ( £210)

<GOPATH>/src/demo_chan4.go (1) :

—0

package main

func receive(c <-chan int, over chan<- bool) {

for v := range c {
println(v)
}
over <- true
}
func send(c chan<- int) {
for 1 :=0; 1 < 3; i++ {
c <- 1
}
close(c)

2013/6/25 —— TR AL




GoH & ImFE——channel ( £11)

<GOPATH>/src/demo_chan4.go (2) :

—0

func main() {

c := make(chan int)

o := make(chan bool)

go receive(c, o)

go send(c)

<-0o
e = SOERES. 52
=Y
<GOPATH>/src$ go run demo_chan4.go
%)
1
2

2013/6/25 = BRI




GoH kmiE——channel (£12) =1

Channel_tEfyswitch——select :

> NIRFENZ I AERIFEFITHIgoroutinessREVE , NIETLAAselect
SKABEITERK.

> selectn] LUSIFZ 1N channel B AEEE |, — 1 channelXdw— case,
LT IR Ichannel FER R BHIEERIAE , selectiEaIRIFZE,

> selectA]LAE—""defaultFa), SE/FR i lrHIchannel FE5 R BHIEL
ERIFHE , default FEERHAT,

> SswitchABE |, selectiBatrrpAgeiIifallthrough,

80



GoH kmiE——channel (£13) =1

<GOPATH>/src/demo_chan5.go (1) :

package main

import (
1] _Fm_t 1]
)

func send(ch chan<- int, number int) {
ch <- number
close(ch)

}

func main() {
chl := make(chan int)
ch2 := make(chan int)
go send(chl, 2)
go send(ch2, 1)

2013/6/25 — = BRI



GoH kmiE——channel (£14) =1

<GOPATH>/src/demo_chan5.go (2) :

select {
case vl := <-chl:

fmt.Printf("%s: %d\n", "CH1", vl1)
case v2 := <-ch2:

fmt.Printf("%s: %d\n", "CH2", v2)

}
fmt.Println("End.")

}

1&17
<GOPATH>/src$ go run demo_chan5.go

CH1: 1
End.

2013/6/25 = BRI




GoitLimiE——channel (4£15) =)

<GOPATH>/src/demo_chan6b.go (2') :

select {
case vl := <-chl:
fmt.Printf("%s: %d\n", "CH1", vl1)
case v2 := <-ch2:
fmt.Printf("%s: %d\n", "CH2", v2)
default:
fmt.Println("None of the channel operations can proceed!")

}
fmt.Println("End.")

}

\— —

=17

<GOPATH>/src$ go run demo_chan5.go
None of the channel operations can proceed!
End.

2013/6/25 = AR




GoH kimiE——channel (£16) ===

selectfY17 /9 :

1. BRI EITchannelFEPFTEGERS , Nselecta—EHZFRIHF—
NEEIEALE,

2. HZPEErchannelREREEUERT , Nselect&fEHIEFE—" case
1T,

3. HFrERIH R ITchannelEPFoEE , Bdefault7a)FERT , M
default FEISHHIT.

4. WNRBFFEMEIFZ N channelfBiEFERforiBGIED.
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GoH k& ImiE——channel ( 17 )

<GOPATH>/src/demo_chan6.go (1) :

—0

package main

import (
"fmt"
)
func send(ch chan<- int) {
for i :=0; 1 < 5; i++ {
ch <- 1
}
close(ch)
}

func main() {
chl := make(chan int)
ch2 := make(chan int)
go send(chl)
go send(ch2)

2013/6/25 —— TR AL




Goif & imFE——channel ( 4218 )

<GOPATH>/src/demo_chan6.go (2) :

—0

for {
select {
case vl := <-chl:
fmt.Printf("%s: %d\n", "CH1", vl)
case v2 := <-ch2:
fmt.Printf("%s: %d\n", "CH2", v2)
}
}
fmt.Println("End.")
}
\N—/ = .
1217 .
<GOPATH>/src$ go run demo_chané6.go
CH1: ©
CH1: 1

2013/6/25 —— BRI




Go’

R JRfe——channel ( £219 )

<GOPATH>/src/demo_chan6.go i=1T (2) :

CH2:
CH1:
CH2:
CH2:
CH2:
CH1:
CH2:
CH1:
CH1:
CH1:
CH1:
CH2:
CH2:

0

O 00O P,~RPpWWDNEN

xR — s
ATET ..

2013/6/25
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A

Go

- fmfE——channel ( 220 ) ______7,.@

<GOPATH>/src/demo_chan6b.go (2') :

for {
select {
case vl, ok := <-chil:
if lok {
break
}
fmt.Printf("%s: %d\n", "CH1", v1)
case v2, ok := <-ch2:
if lok {
break
}
fmt.Printf("%s: %d\n", "CH2", v2)
}
}
fmt.Println("End.")
}

2013/6/25 —— TR AL
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Go

N—y—

=17

- Jmfe——channel ( 422 ) ---:-'@

<GOPATH>/src$ go run demo_chané6.go

CH1:
CH1:
CH2:
CH1:
CH2:
CH2:
CH2:
CH1:
CH2:
CH1:

0

ARPNWWNRNO®R

> HARBbreakiE ) HRE

1Bt selectiEARMMA

/! EFERE—HIBIT FE.

ﬁj&\ﬁ;%

2013/6/25
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Go

R JRfE——channel ( 4223 )

<GOPATH>/src/demo_chan6.go (2'")

—0

overTag := make(chan int)

go func() {
for {
select {
case vl1l, ok := <-chil:
if lok {
overTag <- ©
break
}
fmt.Printf("%s: %d\n", "CH1", vl)
case v2, ok := <-ch2:
if lok {
overTag <- 1
break
}

fmt.Printf("%s: %d\n", "CH2", v2)

2013/6/25 —— BRI
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Go

- Jmfe——channel ( £224 ) ----r-'@

<GOPATH>/src/demo_chan6.go (3) :

overTags := make([]int, 2)
for v := range overTag {
overTags[v] =1
if overTags[@] == 1 && overTags[l] == 1 {
break
}

}
fmt.Println("End.")

2013/6/25 —— BRI



GoitLimiE——channel (4:25) ==

=17 :

<GOPATH>/src$ go run demo_chané6.go
CH1: ©

CH2:
CH1:
CH2:
CH1:
CH2:
CH2:
CH1:
CH2:

CH1:
End. 000

BRI TRRE
&0, FIER
B,

AP WWNNRRO®
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GoH kmiE——channel (£26) =

channel5timefy :

time@ BT —LHBEENINEE , XEINEEE SchannelfBESHY.

> AfterpREl . EREIERTERAIER | IBENMI RS EIRERIchannels
A—""ZRUHTIA] ( time.Time ) BYSLHI,

> TickBRZEY : BRENERZAMER , &isei EEi<rIREIRY
channelFFIAN—1HREIATAE] ( time.Time ) AYSCAI,

> TickerfHty : EAERTRE. TickREMEEEERTMAIIEEN. 1ZiE
Bt ssrT LA LE,
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GoH kimiE——channel (£527) =1

<GOPATH>/src/demo_chan7.go (1) :

package main

import (
|I_Fmt n
"time"
)
func main() {
chl := make(chan int)
go func() {
for i :=0; 1 < 10; i++ {
chl <- 1
time.Sleep(1l * time.Second)
o MRS |
(] O II\A= . )
timeout := time.After(5 * time.Second) © S ERER

overTag := make(chan bool)

2013/6/25 — BRI
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Go

- JRfE——channel ( 4228 )

<GOPATH>/src/demo_chan7.go (2)

—0

go func() {
for {
select {
case vl1l, ok := <-chil:
if lok {
overTag <- true
break
}

fmt.Printf("%s: %d\n", "CH1", vl)
case <-timeout:

fmt.Println("Timeout.")

overTag <- true

}
10O

<-overTag
fmt.Println("End.")

2013/6/25 = BRI




GoH kmiE——channel (£29) =

Y

<GOPATH>/src$ go run demo_chan7.go
CH1: ©

CH1: 1

CH1: 2

CH1: 3

CH1: 4

Timeout.

End.

2013/6/25 — TR AL




GoH kimiE——channel (£:30) =

<GOPATH>/src/demo_chan8.go (1) :

package main

import (
"fmt"
"time"
)

func main() {
chl := make(chan int)

go func() {
for i :=0; 1 < 5; i++ {
chl <- 1 N
time.Sleep(l * time.Second) ‘f?ii%ffﬂ‘f_"
} 1 '_—LIHUE\IT.l'l\Eﬂ
close(chl) ?ﬁ?{ﬁﬁfé\@]ﬁ
110) 0O Saic
tick := time.Tick(1 * time.Second) ©
overTag := make(chan bool)____

2013/6/25 — AR
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e _channel (4:31) ==

Go

<GOPATH>/src/demo_chan8.go (2) :

go func() {
for {
select {
case <-tick:
v, ok := <-chl
if lok {
overTag <- true
fmt.Println("Closed channel.")
break
}
fmt.Printf("%s: %d\n", "CH1", v)
}
}
3O
<-overTag

fmt.Println("End.")

2013/6/25 —— TR AL



GoH kimiE——channel (£:32) =1

=17 :

<GOPATH>/src$ go run demo_chan8.go
CH1: ©

CH1: 1

CH1: 2

CH1: 3

CH1: 4

Closed channel.

End.
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Goif & imFE——channel ( £233)
<GOPATH>/src/demo_chan9.go (1) :

—0

package main

import (
"fmt"
"time"
)

func main() {
chl := make(chan int)
ticker := time.NewTicker(l * time.Second)

°o
O

NewXxx(... )BT
Javadbfy L] 753k,
EGohETF=LhiliE
structfIRAIE |, {#
FBtEE =z,
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Gojf &imfE——channel ( 4234 )
<GOPATH>/src/demo_chan9.go (2) :

o)
-1===‘B

go func() {
for {
select { selectiEAJIRBIA]
case <-ticker.C: LARTEAIXR , X
select { HETBRMENIE

case chl <- 1: FE—" case{l i1,

case chl <- 2: ()(:)
case chl <- 3: ©
}

case <-time.After(2 * time.Second):
fmt.Println("Time out5z§topped ticker.")

close(chl)
return (:>
}
} BiRZE Ttickerly "=
3O 4" 2k , PRET2FD

At ch 13
#ETRiZgoroutine

ISR




Goif & imFE——channel ( 4235 )
<GOPATH>/src/demo_chan9.go (3) :

—0

overTag

for

}
10O

:= make(

go func() {

{
select {

case v,
if |

}
fmt.

chan bool)

ok := <-chl:

ok {

fmt.Println("Closed channel.")
overTag <- true

break

Printf("%s: %d\n", "CH1", v)

time.Sleep(5 * time.Second)
fmt.Println("Stop ticker.")
ticker.Stop()
<-overTag

e o o N i R
5fbf5{=1Eticker,

fmt.Println("End.")

2013/6/25
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GoH kmiE——channel (£:36) =

=17 :

<GOPATH>/src$ go run demo_chan9.go
CH1: 3

CH1: 2

CH1: 1

CH1: 2

Stop ticker.

CH1: 1

Time out. Stopped ticker.
Closed channel.

Closed channel.

End.
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H & FE ST ik——NIO =

<GOPATH> /src/part2/nio/base.qgo :

package nio

import (
"net"
"time"
)
BEN— AT
type PubSubListener interface { SEERIEKATREL,
Init(addr string) error , © O

Listen(handler func(conn net.Conn)) error

Close() bool
Addr() net.Addr

2013/6/25 BRI




H AR JRIESCA—NIO0 ( 48) =

<GOPATH> /src/part2/nio/base.go (2):

type PubSubSender interface {
Init(remoteAddr string, timeout time.Duration) error
Send(content string) error
Receive(delim byte) <-chan PubSubContent

Close() bool OO

Addr() net.Addr <:>
RemoteAddr () net.Addr

TRIXE , X
1. XN ERE AR ANREL.
( AEREZERT )

2. XAMBOREIRIEIE{NAEREIES
EMAREREEE. (FREE)

105



A miESEi——NIO ( ££2)

<GOPATH> /src/part2/nio/base.go (3):

—0

type PubSubContent struct {
content string
err error

}

func (self PubSubContent) Content() string {
return self.content

}

func (self PubSubContent) Err() error {
return self.err

}

func NewPubSubContent(content string, err error) PubSubContent {
return PubSubContent{content: content, err: err}

}

2013/6/25 ——= TR AL




H ARz SEi——NI0 (423 )

<GOPATH > /src/part2/nio/tcp.go:

—0

package nio

import (
"errors"
net"
[1] S nc [1] o
[1] Y 11] o o
time

| S

type TcpListener struct {
listener net.Listener
active bool

lock *sync.Mutex e« o ¢ — —
} XEEGH— I E L.

2013/6/25 TR AL




ARz SEi——NIO (424 )

<GOPATH>/src/part2/nio/tcp.go (2):

—0

func (self *TcpListener) Init(addr string) error {
self.lock.Lock()
defer self.lock.Unlock()

i ) ° 00
if self.active { C
return nil

w2

}
1n, err := net.Listen("tcp", addr)
if err 1= nil {
return err
}

self.listener = 1n
self.active = true
return nil

2013/6/25 = AR




H R RTESCE,——NIO ( 425 ) =

<GOPATH>/src/part2/nio/tcp.go (3):

func (self *TcplListener) Listen(handler func(conn net.Conn)) error {
if !self.active {
return errors.New("Send Error: Uninitialized listener!")

} g . —
go f:nc(% { o oé@—ﬁ\gomutineﬂéﬁw
or .

conn, err := self.listener.Accept()
if err = nil {
Logger().Errorf(
"Listener: Accept Error: %s\n", err)

continue
}
go handler(conn)
} ° o o

10O

return nil

SERERAY , Bl
goroutineSRAMMEIEK,

-2013/6/25 AR




HRIRIESC—NIO (426 ) =

<GOPATH>/src/part2/nio/tcp.go (4):

func (self *TcpListener) Close() bool {

self.lock.Lock()

defer self.lock.Unlock()

if self.active {
self.listener.Close()
self.active = false
return true

1} else {
return false

2 (new ) — i

}
} SR TepListener
LRI,
func (self *TcpListener) Addr() net.Addr {...}

func NewTcplListener() PubSubListener { o
return &TcplListener{lock: new(sync.Mutex)}

-2013/6/25 s AR




H A SRTEsST——NIO (427 ) =

<GOPATH>/src/part2/nio/tcp.go (5):

type TcpSender struct {
active bool
lock *sync.Mutex
conn net.Conn

}

func (self *TcpSender) Init(
remoteAddr string, timeout time.Duration) error {
self.lock.Lock()
defer self.lock.Unlock()
if !self.active {
conn, err := net.DialTimeout("tcp", remoteAddr, timeout)

2013/6/25 = TR AL



R RS ik——NI0 ( 428 ) =)

<GOPATH>/src/part2/nio/tcp.go (6):

func (self *TcpSender) Send(content string) error {
self.lock.Lock()
defer self.lock.Unlock()
if l!self.active {

return errors.New("Send Error: Uninitialized sender!")

}
_, err := WriteToTcp(self.conn, content)
return err
}
func (self *TcpSender) Receive(delim byte) <-chan PubSubContent {
respChan := make(chan PubSubContent, 1) °
go func(conn net.Conn, ch chan<- PubSubContent) { o]
content, err := ReadFromTcp(conn, DELIM) ° o (@)

O
ERXEEERIAE |

ch <- NewPubSubContent(content, err)
}(self.conn, respChan) _ o 0o
return respChan

OOO
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<GOPATH>/src/part2/nio/tcp.go (7):

—0

func (self *TcpSender) Addr() net.Addr {...}
func (self *TcpSender) RemoteAddr() net.Addr {...}

func (self *TcpSender) Close() bool {
self.lock.Lock()
defer self.lock.Unlock()
if self.active {
self.conn.Close()
self.active = false
return true
1} else {
return false

}
}

func NewTcpSender() PubSubSender {
return &TcpSender{lock: new(sync.Mutex)}

}
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<GOPATH > /src/part2/nio/tcp_test.go:

—0

package nio

import (

"bytes™
"fmt"
"net"
"strings"
"sync"
"testing"
"time"

func TestMainFuncs(t *testing.T) {
serverAddr := "127.0.0.1:8080"
var listener PubSubListener = NewTcpListener()
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<GOPATH>/src/part2/nio/tcp_test.go (2):

requestHandler := func(conn net.Conn) { o)
for { O <:>
content, err := ReadFromTcp(conn, DELIM)
if err = nil {

¥eHBListeng
ZREN. ,

...... BREN—
} else { frﬁﬁ;E&tﬁﬁ

15 KAJER £,

------

if strings.HasSuffix(content, "q!") {
t.Log("Listener: Quit!") °0

break
} WRBWE T LIESF
...... BT B4 IRRICHIZL
n, err := WriteToTcp(conn, resp) B RS,

oooooo
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<GOPATH>/src/part2/nio/tcp_test.go (3):

err = listener.Listen(requestHandler)

if err I= nil {
t.Errorf("Listener: Error: %s\n", err)
t.FailNow()

}

var wg sync.WaitGroup R
wg.Add(2) 0O HAFHITEIZ !
go func() {

defer wg.Done()
multiSend("127.0.0.1:8080", "S1", 2, (2 * time.Second), t)

10O

go func() {
defer wg.Done()

multiSend("127.0.0.1:8080", "S2", 1, (2 * time.Second), t)

30 —=—" —~ -
wg.Wait() o o 0 < LIRASENANISEREHERRY
listener.Close() AR, Waits5sRFEZE

—

e
ISR
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<GOPATH>/src/part2/nio/tcp_test.go (4):

—0

func multiSend(
remoteAddr string,
clientName string,
number int,
timeout time.Duration,
t *testing.T) {
sender := NewTcpSender()

err := sender.Init(remoteAddr, timeout)

for 1 := 0; 1 < number; i++ {

err := sender.Send(content)

respChan := sender.Receive(DELIM)
var resp PubSubContent
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<GOPATH>/src/part2/nio/tcp_test.go (5):

timeoutChan := time.After(1 * time.Second)

select { o

case resp = <-respChan: °© 0O — .

case <-timeoutChan: iRiciSselectL AR EERY

break IREFARNERNS ?

}

if err = resp.Err(); err == nil {

} 1£:SFC0ntent := resp.Content() T T DA R
€ mTEs  OREHA

} O

} 0 ©

content := generateTestContent(fmt.Sprintf("%s-q!", clientName))
t.Logf("%s: Send content: '%s'\n", clientName, content)
err = sender.Send(content)
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1= Tl

=== RUN TestMainFuncs
-—— PASS: TestMainFuncs (9.04 seconds)
tcp_test.go:20: Start Listening at address 127.9.0.1:8080 ...
tcp_test.go:69: Initializing sender (Sender1) (remote address: 127.9.0.1:8080, timeout: 2000000000)
tcp_test.go:69: Initializing sender (Sender2) (remote address: 127.9.0.1:8080, timeout: 2000000000)
tcp_test.go:80: Sender2: Send content: 'Sender2-9
tcp_test.go:80: Sender1: Send content: 'Sender1-9 '
tcp_test.go:32: Listener; Received content: 'Sender2-8 '
tcp_test.go:43: Listener: Send response: 'Resp: Sender2-0 (n=186)
tcp_test.go:32: Listener:; Received content: 'Sender1-8 '
tcp_test.go:97: Sender2: Received response: 'Resp: Senderz2-@
tcp_test.go:101: Sender2: Send content: 'Sender2-q! '
tcp_test.go:43: Listener: Send response: 'Resp: Senderi1-8 (n=186)
tcp_test.go:32: Listener: Received content: 'Sender2-q! '
tcp_test.go:35: Listener: Quit!
tcp_test.go:97: Sender1: Received response: 'Resp: Sender1 -9
tcp_test.go:80: Sender1: Send content: 'Senderi1-1
tcp_test.go:32: Listener: Received content: 'Sender1-1 '
tcp_test.go:43: Listener: Send response: 'Resp: Senderi1-1
tcp_test.go:97: Sender1: Received response: 'Resp: Senderl-1
tcp_test.go:101: Senderl: Send content: 'Senderi-q! '
tcp_test.go:32: Listener: Received content: 'Senderi-g!
tcp_test.go:35: Listener: Quit!
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To be continue...

Talk is cheap, show me the code!
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